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O A.int, long, float, boolean, byte, char (O B.int, long, float, boolean, byte, String
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O A.vce O B.DO O c.A0 () D.GND
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if £
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else
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void setup() {
int i;
i=2.7;
Serial. begin(9600) ;
Serial.println(i):
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O A.vee O B.Tig O ¢.Echo (O D.GND
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O A. delay(0, 2); (O B. delay(20); (O c. delay(200);
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O A“&” O B.HI” O ¢« O D.“&&”
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() A.3.04 () B.314 () c.20 () pb.123
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int a=2;
float ¢=1.5, b=1;
a=htec;

b=atc;

() Aa=2 () B.a=25 () c.b=35 () D.b=45
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() A3 () B.1 () c.o () p.2
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() A.if (] B.switch () c.wnhile () p.for
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(O D. delay(2000);
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